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� ����
���� ���	�
 ü + 2αu̇ + u = acosωt �
��� 	
�
����	��� u �� ����	������ 	� ��
��� ����� �� ���	���� �� 
���
	 umin�

�
�� u ����
�� 	
� ���	����� �	� ������	� �� �������� ��� 
��	������ �� �
���	�	�	��� ��������	 e ∈ [0, 1]� ��� ���	��� �
����� �� ����
�	���� 	
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����	���� ��� �
��	��� �� ��
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(�)*����' $�����	�� �������� )�
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��+���� (��
���� �,
������

� �	���������	

)� �
�� ����	��� -� 	������� � 	���� �� ��� �����
 ������	�� �������� -
�	

���	��+� �
� ������ �� � ��	
���	�� ������ -��
 ��� ��.��� �� �������� ��+ �	�
�� � ���������� 	��������� �� �
� 
�������� /
�� �
�� 	��������� �� ����������
�
� ����	��� �� �������� ��� �����
���� +� � ����������� 	��0	�����

���� 
��	������ ��� f +� � 	��������� ���	���� ���� R
3 �� R� -
�	
 ��

(�
�	
��" 	��������� -��
 ���
�	� �� ��� ���� �-� ��.������� ������ �
�� �



123 �� �� ��� ��	 
� ��
������

���� ���+�� umin ��� � ����������� 	��0	���� e ��� .����� 4
� ������� ���� ���
u0 ≥ umin ��� v0� ��	
 �
�� v0 ≥ 0 �� u0 = umin� 4
� ��������� �� �
� %��	
�

��+���� ��� ��5��� �� �����-�6 u �� � 	��������� ���	���� ���� [t0, T ] -
���
��	��� ���������� ��� �
� ���� �� ������+������� �� � �������� 4
�� 	��������
��
���� �
�� �
� 5��� ���������� u̇ �� u �� � ���	���� �� +������ ���������� ���
�� 
����	����� �� �� 	��������� ������ �����-
���� ��� �� �� 	��������� ���� �
�
���� ��� ���� �
� ��.
� �� ��� 
����� �� (t0, T ] ��� [t0, T ) ���
�	������� 4
��� �
�
��7����	� ü− f(t, u, u̇) -��� +� � ������� μ8 �
� ���	���� u ��� �
� ������� μ

��� �� ������� �
� �����-��. ���������6

ü = f(t, u, u̇) + μ �9�

u ≥ umin �1�

suppμ ⊂ {t : u(t) = umin} �2�

�� u(t) = umin� �
�� u̇(t + 0) = −eu̇(t − 0) �:�

u(t0) = u0, u̇(t0) = v0 �;�

� ��- -���� �� 	������ �� �
�� ��5������ ��� �� �����6 �
� 5��� ����������
�� u �� �,
�	��� �� +� ���	��������� �� ��
�	��� ��� �+����� .�������	 �������8
�
�������� �� ��<�� ����� �� ������ �
�� �
� ��	��� ���������� �� u 
�� $���	
������� �� ���� .�������� �� � �������� 4
� ������� μ �� �
� ���	���� ��
�
� �+���	�� �� ��
�	�� �� 	�� +� ���� ���� �9�� -
�	
 �� +���	���� ��-���=�
��-� %�������� �1� ����� �
�� u(t) ������� ������ �
� 	����, �� 	����������
[umin,∞)� 4
� ���	���� 	�� +� ��7����� ���� 0 ���� -
�� �
��� �� � 	����	�6
�
�� �� �������� �2�� �������� 	�������� �;� ���	��+�� �
� 	����������� ��- �� �
�
��
�	�� -��
 �
� 
��
 �� �
� ����������� 	��0	���� e�

)� 
�� +��� 
����� �� >;? �
�� 
��+��� �9�'�;� 
�������� � ��������� @�-'
����� ���!������ �� ��� ��-��� ���� ��� �� �,��
�� 
�� +��� .���� �� >91?�
������
������ .�����	 ���!������ 
�� +��� 
����� �� � �
�	��� 	��� >1? ��� n
��.���� �� �������8 ���!������ 
�� ���� +��� 
����� ��� ��� ��.��� �� �������
-
�� f �� �������	 -��
 ���
�	� �� ��� ��� ��.������ >92?�

� ���
�� 	��� �� (1) − (4) �� � ���	�� ��+�����. ������ -��
 ��� ��.��� ��
������� ��5��� +�

f(t, u, v) = a cos(ωt) − 2αv − u. �A�

)� �
�� 	���� �
� ���!������ �
����� �� >92? �

�����
��� 
����	���� ������ �� �
� 
��������� α� umin ��� e� �
� 
��+��� �9�B

�;� -��
 �
� 	
��	� �A� �� ���	���� f �
�-� ��
�	���� ��� ������ 

�������
�� ����������� �� ������� ����� ��� �
��� ��� ������ �� �
� 
�������� ��� -
�	

�
��� �,���� � C�����.�D �����	����

)� �
�� ����	��� -� 	��
��� (��
���� �,
������ ��� �
� ������ �9�B�A��
����. �-� ��7����� ������	�� ���
����



����������� �� �������� ��������� ��� 	�������� ������ ���
 ������ 12E

4
� 5��� ������	�� ���
�� �� �
� ��
�	� ����	���� ���
��� ��� �� �� ����
�����.
����-���6 ��

��� -� ��� .���� ������� ���� u(tk) = uk ��� u̇(tk+0) = vk

�� �� ��
�	� ���� tk� /� ��� �
� ���������� ��� ������F ��� �
� ���� G�.
�
��������� ��� -� ���< �
� 5��� ���� tk+1 > tk ��� -
�	
 u(tk+1)−umin �����
���
/� 
������ �
�� ����	
 +� �-��
��. ���-��� �� ���� �� �� �� 5�� � �����
�������� -
��� u−umin 	
��.�� ��.�8 �� �
�� ����� ��������� -� 5�� �
� ��
�	�
���� +� ��-���=� ���
��� 4
� �		���	� �� ������� ���� +� �
� 	�
�+����� ��
�
� 	��
����� �� ������� tk+1� -� ������� �
� ����	��� �		�����. �� ���� �:��
��� -� ����� �
� 
��	��� �.��� ����. �
� ��- ������ �� �
� ������� �����

4
� ��	��� ������	�� ���
�� �� �
� >:�A? ������	�� �	
��� ��5��� �� >:�A?�
(�� �� ���	��+� �
�� �	
���6 ������ PK �
� 
�� �	���� �� �
� 	����, ��� K =
[(1 + e)umin, +∞)8 �� �� .���� +�

PK(x) = max(x, (1 + e)umin), �H�

��� � ��!���	� Fn� -
�	
 �� ��5��� +�6

F n = f(nh, Un, (Un+1 − Un)/h). �3�

4
� ������	�� �	
��� �� .���� +� �
� �����-��. ��������6

Un+1 + eUn−1 = PK [2Un + (e − 1)Un−1 + h2F n]. �E�

)� ����� ��� �
�� �
� 	��
�������� ����. �H�B�E� ��� ��	
 ������ �
�� �
�
	��
�������� +� �
� ��
�	� ����	���� ���
��� @�-����� �
� �	
��� �� ���
���� �		�����8 �� �� ��� +����� �
�� 5��� ����� -��
 ���
�	� �� �
� 
��������

)� 
�� +��� �+������ �
�� �� � 	
����	 	���� �
� �����	��� �� �9�B�A� 	��	�'
����� +� �
� ��
�	� ����	���� ���
�� �� -��� �

��,������ +� �
� �����	���
	��	������ +� �
� ������	�� �	
��� �H�B�E��

/� -���� ��<� �� �������� 
�- -��� �
� ������	�� �	
��� �H�B�E� �

��,'
������ ���� ��5��� ������������ ������ �
� (��
���� �,
������ �� �9�B�A�6
-� ����	� ��� 	��������� ���� ������	�� ������ �� �
��� ���������� �� � ���'
	���� ���� ������	�� ������� +� ����. � ����	��I ��
8 �
�� �� ���� +�	���� -�
	�� �
� 

��� �
�	� +� �
� 
����� t = t0 + kT � -
��� T = 2π/ω �� �
� 
�����
�� �
� ���	��.� )� �
� �-� ����������� 	���� �
� ���.��� (��
���� �,
������ ��
�� �,����� ���	��+�� �
� �����.� ���� �� �����.��	� �� �-� ��5����������� 	����
��� �	������8 �
� ��� �� �
� �-� (��
���� �,
������� �� �� �,����� ���	��+�� �
�
�����.� ���� �� ��������� �� ��5��������� ������ �� 

��� �
�	��

4
��� ��� 	�����	�� ���
��� ��� 	��	������. ������	���� (��
���� �,
�'
�����8 �
�� ��� ���	��+�� ��� ������	� �� >H?� ��� 	������ ����������� �� .����.
� �������+�� ���+�� ������	�� ��
����������� �� �
� ��5������ �� �
� (��'

���� �,
������� 4
� 	��	�������� �� (��
���� �,
������ ��� ���� 	���� ��
�
� �

��,������� �� ��.�������� �� � �����, +� �
� 
�-�� ���
��� ��� ��



1:J �� �� ��� ��	 
� ��
������


�� +��� <��-� ��� � ���. ���� �
�� ���������"������ ��� ������ �� ��<� �
�
	��
������� 
����+���

4
� ��	� �
�� ��� ������ �� ��� �����
 �� ��� � ������� 
��+���� +�	����
�
� ������ 	�� +� �������"�� -
������ �
� ��
�	� ��<�� 
��	� -��
 � ����	���

������� ����	���� ��� -� ����� �+������ ���.������ ��
�	�� ��� 	
��	�� �� �
�

��������� ������. �� � 	
����	 +�
������

4
� ����	�� �� ��.���"�� �� �����-�6 �� ��	���� 1� -� ��	��� �
� ��5������
�� �
� (��
���� �,
������� ��� -� ��5�� � 
��.��� -
�	
 	���� ���� �� �
�
������	�� ��������� �� �
� !���������� !�������� -� 	�������� ��� -� ���	��+�
��� ����� �� �����	������ )� ��	���� 2� -� ��7��������� �
� G�- -��
 ���
�	�
�� �
� ������� ����6 -� 	������� ��
������� �
� G�- �� 	��������� ���� ��� �
�
G�- �� ���	���� ����� ��� -� �
�- �
�� � 	��	��� ���� ����

���� �� �
� ���	����
���� 	���� )� ��	���� :� -� �,
���� �
� �
��� ���
��� �� 	��
������� �� �
�
(��
���� �,
������� )� ��	���� ;� -� ���	��+� ��� 	��
��� ��� ������	��
�������� )� ��	���� A� -� 	��	�����

� ���	����	 �
 �����	�
 ����	�	��

(�� �� ��	��� �
� ��5������ �� (��
���� �,
������ �� � �����
 	���6 ��� Snx
+� � ��� �	���� �� � ���	���� ������	�� ������8 �� δ �� ���� ������ �
� ���.���
(��
���� �,
����� �� �
� ����
����	 ���� �� ��������� �� |Sn(x + δ) − Sn(x)|
�� ���� n ����� �� ��5����� �� �� �,����8 ��������� �� δ1 ��� δ2 ��� ����
�������
�
� ��� �� �
� 5��� �-� (��
���� �,
������ ���	��+�� �
� ����
����	 ���� ��
��������� �� �
� ���� �� �
� 
��������.��� +���� �� �
� ��	���� Sn(x+δ1)−Sn(x)
��� Sn(x + δ2) − Sn(x)� 4
�� ��	
 �+ �	�� 	�� +� ��5��� ��� �,��� �� �
��� ������� ��	�� -
�	
 �� 
����� ���� �� ���
�� 
����	���� 	����� (�� �� �����
 ��� � ��- �� �
� ������� -
�	
 -���� ���+�� ��� �� 
���� �
�� �
� (��
����
�,
������ �,���� ��� ����	�� ��� �
� �����-��. ���	��
���� 
��� +��� >E?� >9J?�
>99? ��� >9:?�

/� .��� 5��� ���� ��5������� -
�	
 ��� 	�����	�� �� ��.���	 �
����6 	�������
� �������+�� �
�	�� ���� � 
��� (X, X) -
��� X �� �� �+����	� ���� ��� X �� �
σ'��.�+�� �� ��� ��+����� � ��

��. S ���� X �� ������ �� �� �������

���
�� (X, X) �� ��� ��� C +����.��. �� X� �
� ��� T−1C +����.� ���� �� X� �
������� μ �� (X, X) �� ��������� ����� �
� �������

��� S �7 ��� ��� C ∈ X�
μ(S−1C) = μ(C)�

4
� 	���+����� &��<
�7'K
��	
�� ��.���	 �
����� ������ �
�� �� μ �� ������'
��� ����� S� �
�� ��� ������ ����� x ��� ��� ��� f ∈ L1(X, X, μ) �
� �����-��.
�����

f̄(x) = lim
n→∞

1

n + 1

n∑
j=0

f(Sjx)



����������� �� �������� ��������� ��� 	�������� ������ ���
 ������ 1:9

�,����� ��������� �
� �������. ���	���� f̄ �� ���������� ���8

f̄(Sx) = f̄(x),

��� μ'������ ��� x ∈ X�
(�� S +� �� �������

��� �� (X, X) ��� ��� μ +� � 
��+�+����� ������� �
��

�� ��������� ����� S� 4
� ��������	 ��7����	� �� �-� ���� A ��� B �� �������
AΔB� ��� � ��� A ∈ X �� ���� �� +� ��������� ��� J �7 μ(AΔ(S−1A)) = 0�

�� �������

��� S �� 	����� ��.���	 �� ��� ��������� ������ J ��� �� ��
������� 0 �� 1� �� �!�������� ����������� �� �
�� ��5������ �� �
�� �� �
�
&��<
�7'K
��	
�� �
������ f̄ �� � 	�������6

f̄(x) =

∫
f(x) dμ(x).

�������������� �� �� 
����+�� �� ��� �
�� μ �� ��.���	 �7 �
� ���� ��� �
� �
�	�
�����.�� 	���	����

4
� �,�����	� �� �� ��������� ������� 	�� +� 
����� �� X �� � 	��
�	�
�����	 �
�	�� X �� �
� &���� σ'��.�+�� ��� S �� �� 
�������

��� �� X� 4
��
������ �� ��� �� &�.����+�� ��� K����� ��� 	�� +� ����� ��� ������	� �� >E?�

�.� 3� (���� 9�1�

)� ����� �� 
���� �
�� �� ��� 
��+��� -� 
��� �� ��������� �������� -�
-���� 
��� �� �����- �
� �����-��. 
��.���6 5��� �+����� �
�� -��
 � 
������	
���	��.� �� ��<�� ����� �� �
��< �� ���� �� � 
������	 �����+�� �� 
����� 2π/ω =
T 8 �
� ��

��. S ��
� �
� 
������� ��� ����	��� �� ���� t0 �� �
��� ���.� +�
�
� G�- �� ���� t0 + T � 4
� ��	��� ���
 �� �� �
�- �
�� �
� ������ ��5���
+� �9�B�A� 
�� � +������ ��������� ��� �� (R/T )× Ve8 	������� �
� ω'����� ���

A =
⋂
k≥0

{∪n≥k{Snx}}

��� ���� ������� ���� x = (u0, v0)
• ��� �
�- �
�� A �� 	��
�	��

4
�� ���
 
�� +��� 
�������� �� � ���.
��� ��7����� 	��� +� ��.�L�� �� 
��
�
���� >9?� ��� -� +������ �
�� �
� ���
��� �� ��.�L� �

�� -��
 ���� ������
�� �������� �� �
� 
������ 	����

4
�� �
� ������ ��0	��� ���< -���� +� �� 
���� �
�� ������	��� �� A� S ��
�� 
�������

���8 �� �� 	���� �
�� �� �� 	���������� �
��<� �� �
� 	���������
��
�����	� -��
 ���
�	� �� ����8 +�� ��� ������� 	���� +� ���� +��6 S 	����
���� ��	< �� ������� �� (0, 0)• +����.�� �� A� ������. �� ���
�����. �
�� (0, 0)•

+����.� �� A ���<� ��<� � ���� 
��� 
��+����
���� �� �
�� ������ -��� 
������ ��� ��������� ������� �� A 	���� +� ���

���!�� ��� ���� +���� +�
����� @�-����� �
� �,�����	� �� ��	
 �� ���������
������� -���� +� �� ��
������ ��	�� +�	���� �� -���� +���� �
� �����������
��� �
� �����-��. !�������6 	������� � ���	���� �� x� ��	
 �� �
� �����.� <�����	
����.�6 �� �� ��5��� +�



1:1 �� �� ��� ��	 
� ��
������

E(x) =
1

T

∫ T

0

|Φ2(t0 + s, t0, u0, v0)|2 ds

-
��� (u0, v0) �� ��� ��
����������� �� �
� 	���� x ��� Φ2 �� �
� ��	���
	��
����� �� Φ� 4
� �,�����	� �� �� �����.� <�����	 ����.�� ���� �� �
� �����

lim
n→∞

1

(n + 1)T

∫ (n+1)T

0

|Φ2(t0 + s, t0, u0, v0)|2 ds

�� �!�������� �� �
� �,�����	� �� �
� �����

lim
n→∞

1

n + 1

n∑
j=0

E(Snx).

%������� �
�� �� � !������� �� ��.���	 �
�����
��-� -� ����� �������	=� �
����� 	��	�����. �,�����	� �� (��
���� �,
�'

����� >E� �
����� 1�9� 
�.� 12?6

+
����� ��� ����������� ��� S �� � C1��	
����
��	�� �� � �������
���	���� X� ��� ��� μ �� �� �
���	� �����
�� ���� ���
� �
� ��� ����	�	��
	�	���

�	� ���
� ��	��� λ ∈ R ���� ��
 ��� v 	� ��� ������� ����� TxM �� M �� x�

lim
n→∞

1

n
ln ‖DxS

nv‖ = λ �9J�

��
 ������ ��� x 	� M � �


�		� ���
� ��	��� λ1 > λ2 ��� � ���	��	�� TxM = E1
x ⊕ E2

x ��	�� ��� ����
x 	→ E1

x, E
2
x ��	�� �����
����� ���� ���� ��
 ��� v1 	� E1

x� ��� ��� v2 	� E2
x�

lim
n→∞

1

n
ln ‖DxS

nv1‖ = λ1 �99�

���

lim
n→∞

1

n
ln ‖DxS

nv2‖ = λ2 �91�

��
 ������ ��� x 	� M

)� ��� 	���� S �� ��� � C1'��7�����

���� ��� -� 
��� ��� 
����� �
�� �
���
�,���� �� ��.���	 ������� μ� 4
�������� �������	=� �
����� ���� ��� ���+���
�� �� ����+���
 �
� �,�����	� �� (��
���� �,
�������

@�-����� ��� 
��+��� �� ��� ������� ������ �� ��.�������6 ��� �� ��� �
��
� ����	� ��
�	� ���� �� �� ��
�	� ���� ��� -
�	
 �
� ���� ����� �� �
� ����	���
���� ��� �����
� )� �� 
����+�� �� 	��	����� �
� ��7�������� �� �
� ��

��.



����������� �� �������� ��������� ��� 	�������� ������ ���
 ������ 1:2

(u0, u1) 	→ Φ(t1 − 0, t0, u0, u1)� 
������� �
�� �
� �������� (t0, t1) 	������� ����
� 5���� ���+�� �� ��
�	� ������ ��� �
�� �
�� ��� ����	� ��
�	� ������

/
�� �
��� �� �,�	��� ��� ��
�	� ����� �
� ��7�������� �� 	��
���� �,
��	'
����� ��� �� �� .���� +� � 2× 2 �����,8 �
� ���� ��
������ ���� �� �
�� �����,
	���� ���� �
� ��7����������� �� �
� ��
�	� ���� -��
 ���
�	� �� �
� �������
����� -
�	
 �� 
����+�� ���� �� �
� ��
�	� ���� �� ����	��

4
��� �
� (��
���� �,
������ 	���� +� -��� ��5��� �
��.
 ���� �� �
�
	��������� �� �������	=� �
����� ��� �����5��8 +�� �
��� �,�����	� ��� �
���
	��
������� �� � 
����� �,
��������� ������� )� -
�� �����-�� �� �
���� +�
��-��� ���������� �
�� ��� �+ �	� -� 	������� �
���� +� 	��
�������� +�
�
� 

���� C�� �� �,����D� &�� -� �
��� ��� ��
��� �� ���������	�����

)� ��� 	���� �
� 

��� �
�	� �� �-� ������������ -
�	
 ����� �� �
� 	��
�'
������ �� �-� (��
���� �,
�������

4
� ���.�� ���� λ1� �������� �
� ���� �� ��������� �� � ��� �����������
��5��������� ������� �� �
� 

��� �
�	�� )� 	�� +� .���� +� �
� ��������� ��
�
� ������	� +��-��� �
� �������	� ��� �	���� ��� � ���.
+�����. ����

4
� ��� �� �
� ������� ���� λ2� ��� �
� ���.�� ��� �������� �
� ���� ��
��������� �� ��5��������� ������ �������� �� �
� 

��� �
�	�� )� DS(x) 
��
���� ������	� ��.����	���� v1 ��� v2 �� ���� 
���� x� ��� 	���� ���������� �
�
��5������ �� �
� ��	��� (��
���� �,
����� �� � ���� .�������	�� ���
���6 �
�

��������.��� +���� �� v1 ��� v2 �� ���� +� �
� ���.��� ��

��. �� x �� S ����
����
�� 
��������.��� +���� �� DxSv1 = exp(λ1t) ��� DxSv2 = exp(λ2t)v2�
4
�� �
� ���� �� �
� 
��������.��� �� �����
���� +� exp((λ1 + λ2)t)�

)� 
����	����� �� λ1 > 0 ��� λ1 + λ2 < 0� �
� ����� ��� 	�����	���� -
���
�
� ������	�� 	�� +� �,
�����6 �
�� �� 
��	����� � ��������� -
�	
 	�� ���� ��
	
����	 +�
������

��� � �����
����� ������	�� ������� �
� ����� ��� 	�����	���� �� � �����

� ������	������	 �
 ��� ��	��	���� �	� ��������

 ���

��� ��� ��	
�	���
 ���

)� �
�� ��	����� -� 	��	����� �
� ��7�������� �� �
� ��

��. x0 	→ Φ(t1, t0, x0)
-
�� �
��� �� �,�	��� ��� ��
�	� ����� �� �
� �������� (t0, t1)� ��� �
� ��
�	� ��
����	�� ���� Φ2(tc − 0, t0, x) < 0� /� ������� x0 = (u0, v0)� �
� ������� 	��������
�� �
� 

��� �
�	��

4� �� �
��� -� �,
���� �
� G�- �� ��	
 �� �������� �� �
� 	��
������� ��
�
� G�- ���� ���� t0 �� ���� tc� �
� ���� �� �
� ��
�	�� �� � ��G�,��� ��� ��
�
� G�- ���� ���� tc �� ���� t1� ���	� �
� ��G�,��� ��- �� .���� +�

u̇(tc + 0) = −eu̇(tc − 0). �92�



1:: �� �� ��� ��	 
� ��
������

�
� 

��� ����� �
� ��
�	� �� ������� �� �
� 

��� +����� �
� ��
�	� +� � ������
�������������� -
��� �����, ��

R =

(
1 0
0 −e

)
�9:�

)� �� 	��������� �� ������

Φ(tc − 0, t0, x0) = xc. �9;�

4
�������� -� ��� -���� ��-

Φ(t1, t0, x0) = Φ(t1, tc + 0, Rxc). �9A�

+
����� ��� ������ ���� ��� 	����� �� tc 	� ��
	��� ������ φ(t) = f(t, u(t), u̇(t))�
���� ��� �	
�
���	�� �� x 	→ Φ(t1, t0, x) 	� � ��� ��

D1Φ(t1, tc − 0, xc) ◦ R̃ ◦ D1Φ(tc − 0, t0, x0), �9H�

���
�

R̃ =

( −e 0
φ(tc + 0) + eφ(tc − 0)

u̇(tc − 0)
−e

)
�93�

,���-� /� ��7��������� �
� �������� �9A� -��
 ���
�	� �� x0 ��� -� �+����

D3Φ(t1, t0, x0) = D2Φ(t1, tc + 0, Rxc)Dtc + D3Φ(t1, tc + 0, Rxc)R.W, �9E�

-��

W = {D1Φ(tc − 0, t0, x0)Dtc + D3Φ(tc − 0, t0, x0)}

/� 	��	����� �
� ��7����� !��������� -
�	
 �

��� �� �9E�6 �
��<� �� �9;��
tc �����5��

Φ1(tc − 0, t0, x0) = umin,

-
�	
 -� ��7��������� -��
 ���
�	� �� x08 �� �
� ��
�	� �� ����	�� -� 	�� ���
�
��

Dtc(x0) = −D3Φ1(tc − 0, t0, x0)

u̇(tc − 0)
.

(�� �� 	��	����� ��- D2Φ6 -� ��7��������� �
� ��7�������� �!������ ��� �
�
������� 	��������� �����5�� +� Φ1(t, s, x)

(D2
1 + 2αD1 + 1)Φ1(t, s, x) = f(t), Φ1(s, s, x) = u, D1Φ1(s, s, x) = v,

-��
 ���
�	� �� �
� ��	��� ��.������ ��� -� �+����

(D2
1+2αD1+1)D2Φ1(t, s, x) = 0, D2Φ1(s, s, x) = −v, D1D2Φ1(s, s, x) = −f(s, u, v).



����������� �� �������� ��������� ��� 	�������� ������ ���
 ������ 1:;

4
�������� �� -� �+����� �
�� �� ��������� -��
��� ��
�	� �
� ��7�������� �� Φ
-��
 ���
�	� �� �
� �
��� ��.����� �� ���
�� �
� ����������� �������� �� �
�
	�����
�����. 	������� 	��0	���� 
���.������ ������ ������� -� 	�� ��� �
��

D2Φ(t1, tc + 0, Rxc) = D3Φ(t1, tc + 0, Rxc)

( −u̇(tc + 0)
−φ(tc + 0)

)
.

�� �
� ��
�� 
���

D1Φ(tc − 0, t0, x0) =

(
u̇(tc − 0)
φ(tc − 0)

)
.

��������� -� �

�� �
� �����, ��������(
a
b

)(
c d

)
=

(
a 0
b 0

)(
c d

ĉ d̂

)

�� ��������� �
� �,
�������� 	��������. D3Φ1 ���� �,
�������� 	��������.
D3Φ� 4
������� -� ��� -���� �A�H� ��

D3Φ(t1, t0, x0) = D3Φ(t1, tc + 0, Rxc)UD3Φ(tc − 0, t0, x0). �1J�

-��


U = R + R

(
u̇(tc − 0) 0
φ(tc − 0) 0

)
1

u̇(tc − 0)
+ R

(
u̇(tc + 0) 0
φ(tc + 0) 0

)
1

u̇(tc − 0)
�19�

� ����	� 	��
������� �
�-� �
�� �
� !������� �� +��	<��� �� �!��� ��

( −e 0
φ(tc + 0) + eφ(tc − 0)

u̇(tc − 0)
−e

)

-
�	
 �� 
��	����� ��� 	�����

��� ��� ��
���
� ���

4
� ���	���� 
��+��� 	�����
�����. �� �9� ' �:� �� ��5��� +� �H�� �3� ��� �E��
(�� �
� ���	���� ����	��� +�

V n =
Un+1 − Un

h
. �11�

4
� ������� ���� ��� �A� ��� �H� ��� U0 ���

V 0 =
U1 − U0

h
.



1:A �� �� ��� ��	 
� ��
������

4
� 
�����+�� �������� Ũn 	�����
���� �� 
�����+�� ������� 	��������� Ũ0 ���
Ṽ 0�

(�� N ����
 Ñ� +� �
� ��� �� ����.��� n ��	
 �
�� �
� 	��������� �� �	����
�� Un ����
�	������ �� Ũn�� ����

N = {n ≥ 1 : 2Un + (e − 1)Un−1 + h2F n ≤ (1 + e)umin},
���

Ñ = {n ≥ 1 : 2Ũn + (e − 1)Ũn−1 + h2F̃ n ≤ (1 + e)umin}.
�� 	������ ��� n ∈ N� Un+1 + eUn−1 = (1 + e)umin�

.���� ��� !�
 ��� 	�����
 M ���� ���� ��
 ��� n ∈ {1, . . .M}� 2Un +
(e − 1)Un−1 + h2F n 	� ��� � ��� �� (1 + e)umin� ���
� ��	��� � ρ ���� ���� ��

|Ũ0 −U0|+ |Ṽ 0−V 0| ≤ ρ� ���� Ñ∩{0, . . . , M} ��	��	��� �	�� N∩{0, . . . , M}�

,���-� 4
� ��

��. -
�	
 ����.�� �� (u, v) �
� ���+�� w ��5��� +�

w + eu = P(1+e)K(2v + (e − 1)u + h2f(t, v, (w − u)/2h)) �12�

�� 	���������8 ������� PK �� � 	�����	����� ��� (u, v) 	→ h2f(t, v, (w − v)/h)
�� (�
�	
��" 	��������� -��
 � (�
�	
��" ����� ��������� +� Lh� -
��� L �� �
�
(�
�	
��" 	������� �� f -��
 ���
�	� �� ��� ���� �-� ��.������� 4
�������� �
�

���	�
�� �� ����	� 	�����	����� ��
���� �
�� ��� Lh < 1� �
��� �,���� � ���!��
�������� w �� �12�� )� u′ ��� v′ ��� ��7����� ����� -� ��+���	� �12� ����

w′ + eu′ = P(1+e)K(2v′ + (e − 1)u′ + h2f(t, v′, (w′ − u′)/2h)),

��� -� �+����

(1 − Lh)|w′ − w| ≤ (1 + hL)|u′ − u| + (2 + h2L)|v − v′|,

-
�	
 ��
���� ����������� ��� 	���� �+��� 	����������
4
�������� ��� ��� n ≥ 1� Ũn ����� �� Un �� |Ũ0 −U0|+ |Ṽ 0 − V 0| ����� ��

0� )� 2Un + (e − 1)Un−1 + h2F n �� ��� �!��� �� (1 + e)umin� �
�� ��� ε �����
����.
� 2Ũn + (e − 1)Ũn−1 + h2F n �� ��� �!��� �� (1 + e)umin� ��� �
�������
�
� 	���������� ��� ��������� ��� Un �� �
�� ��� ��������� ��� Ũn�

(�� �� ��5�� �
� ���	���� G�- Φh �� �
� ��

��. -
�	
 ����.�� �� �
�
���	���� ����� t0 ��� tn = t(0 + nh) �
� �������� Xn = (Un, V n)T �� �
�
������	�� �	
��� �� ���� tn -
�	
 �����5�� �
� ������� ���� X0 = (U0, V 0)T

�� �
� ������� ���� t0�
)� �
���� +� �����<�� 
��� �
�� �
� 

��� �
�	� ��� �
� ���	���� G�- 
�� ���

+��� ������� �� �
� ���� ������ �� �
� 

��� �
�	� ��� �
� G�- �� 	���������
����� ��� 
������ ������������. �� �
�� �
�� 

��� �
�	� �� R

2�



����������� �� �������� ��������� ��� 	�������� ������ ���
 ������ 1:H

+
����� ��� "���	��
 � �	��
��� �	�� 	���
#�� {tk, . . . , tl} �� ��	�� ���
�����	�� Un �� ��� ����
	��� ������ ���	�$��

n �= p, p + 1 and tk ≤ tn ≤ tl =⇒ 2Un + (e − 1)Un−1 + h2F n > (1 + e)umin,
�1:�

���

n = p or n = p + 1 =⇒ 2Un + (e − 1)Un−1 + h2F n < (1 + e)umin. �1;�

��� ��
	#��	#� �� ��� %�� �	�� 
������ �� 	�� ����	�� �
������ 	� �	#�� �&

D3Φ
h(tl, tk, Xk) = D3Φ

h(tl, tp+1, Xp+1) ◦ Rh ◦ D3Φ
h(tp−1, tk, Xk), �1A�

���
�

R̂ =

( −e 0
0 −e

)
�1H�

,���-� /� 	�� ��	��
��� �
� ���	���� G�- �� �
�� �������� ��

X l = Φh(tl, tp+1, Xp+1),

���
Xp−1 = Φh(tp−1, tk, Xk).

4
��� �
� ��7����������� �� X l -��
 ���
�	� �� Xk �� 
�������� +� 	��
�������
�� ��7������������� 4
� �����
���� �� �
� ���������� �� 	���������� �� ���	����
����� p ��� p + 1 ��
����

Up+1 + eUp−1 = (1 + e)umin, V p+1 + eV p−1 = 0,

�� �
�� �
� ��7�������� �� (Up+1, V p+1) -��
 ���
�	� �� (Up−1, V p−1) 
�� �����,

R̂ =

( −e 0
0 −e

)
.

4
��� +� 	��
������� -� �+����

D3Φ
h(tl, tk, Xk) = D3Φ

h(tl, tp+1, Xp+1) ◦ R̂ ◦ D3Φ
h(tp−1, tk, Xk).

! "�� ����� ����������	�� �������

)� �
�� ��	����� -� 	��
��� ������	���� (��
���� �,
������ ��� �
� 
��+���
�9�B�A� ����. �
��� ��7����� ���
���� 4
� 5��� �-� ���
��� ��� +���� �� �
�
��
�	� ����	���� �	
���� 4
� �
��� ���
�� �� +���� �� �
� �	
��� �H�'�E��

/� 
��� �� 	��	����� ln(|D(Sk)(x)v0|)/k� )� ����� �� �+���� � �����+�� 	��'

�������� -� 
��� �� �������"� �� ��	
 ���
 �
� ��������8 ��
��-���� �
� ����
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� ��	���� DSk(x)v0 ��	������ �,
���������� -��
 k� ��� �
� 	��
�������
����� �� �� ����G�-� 4
�� ��������� �� �������	��� �� �
� 
�-�� ���
�� ��� �
�
	��
������� �� ��.�������� �� �����	�� �>3?� >2?�� ��� �
� ���
�� ��
����� ��
����������� �
� ����6 ��� xj +� �
� ��!���	�

x0 = x, xj = S(xj−1).

4
��� +� 	��
������� �� ��7����������

D(Sk)(x) = DS(xk−1) · · ·DS(x0).

$�5�� � ��!���	� �� ��	����

v̂j = DS(xj−1)vj−1, vj =
v̂j

‖v̂j‖ .

4
�� -� 
��� �
� �����������

DS(x0) = v̂1, DS(x1)DS(x0)v0 = v̂2‖v̂1‖,
��� +� �� ��������� ����	����

DS(xk−1) · · ·DS(x0) = v̂k

k−1∏
j=1

‖v̂j‖.

4
��� -� -��� 	��
���

λ1,k =
1

k

k∑
j=1

ln ‖v̂j‖, �13�

�� �� �

��,������� �� �
� ���� (��
���� �,
������ �� �� �,�����
���������� -� 
��� �� 	��	����� �
� ��	��� (��
���� �,
�����6 ��	� �.����

�
� 	��
������ -��
 �
� ���
��� ���� ��� �
� 	��
������� �� �����, ��.�����'
��� �� �����������.6 �� �� ����.
 �� 	��
��� ln | detD(Sk)(x)|� ��� �� ��+���	�
���� �
�� ���+�� λ1,k� %��
������������� �
�� 
��	����� -���� +� 
�.
�� ��'
�����+��� ���	� �
� ���.� �� � +���� +� D(Sk)(x) +�	���� �,������� ���.���� ��
k ����� �� ��5����8 �
��� -� ������ �
� 	��
������� �� �����-�6

det D(Sk)(x) =

k∏
j=1

det DS(xj−1),

��� -� 	��	����� �
� ����������� �� DS(xj−1) -��
 �
� 
��
 �� � ��	��� ��'
!���	� �� ��	���� wj ��5��� +�

ŵj = DS(xj−1)wj−1, wj =
ŵj − (ŵj · vj)vj

‖ŵj − (ŵj · vj)vj‖ .
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)� ��
�� -����� �
� +���� {vj−1, wj−1} �� ����������� ���� {v̂j, ŵj} +� �
� ���'
����"����� �� �
� ����	��I ��
 S� ��� �
�� ��+������ �� M���'�	
���� ��'
�
�.�����"������ 4
��

| detDS(xj−1)| = ‖v̂j‖‖ŵj − (ŵj · vj)vj‖.

4
�������� -� ��5��

λ2,k =
1

k

k∑
j=1

ln ‖ŵj − (ŵj · vj)vj‖, �1E�

�� +� �
� ������	�� �

��,������� �� �
� ��	��� (��
���� �,
������
4
� ������	�� ��7����������� �� �
� 	��������� ���� ��� �
� ���	���� ����

G�-� �� ��
�������� �� � ���� ���
�� ���
���6 ��� ε +� � ����� 
������� ���+���
��� ���

δ1 =

(
1
0

)
, δ2 =

(
0
1

)
.

M���� X0 ��� t0� -� ��5�� �
� ������	�� ��7�������� DεS(X0) �� �
� ����	��I
��
 S �� �
� �����, .���� +� ��� 	����� ��	����

DεS(X0) =
1

ε

(
Φ(t1, t0, X0 + εδ1) − Φ(t1, t0, X0) Φ(t1, t0, X0 + εδ2) − Φ(t1, t0, X0)

)
.

4
� ���� ��5������ �

���� ��� �
� ���	���� ���� G�-6

DεS
h(X0) =

1

ε

(
Φh(t1, t0, X0 + εδ1) − Φh(t1, t0, X0) Φh(t1, t0, X0) + εδ2) − Φh(t1, t0, X0)

)
.

4
� �
��� ������	�� �	
���� -��� +� �������

• )$�$ /�
�	� 0���	����� 1,�	� 0�7������������

• )$�$ /�
�	� 0���	����� ������	�� 0�7������������

• ���$ ������	�� 
	
���� ������	�� 0�7������������

)� )$�$� -� ��� 	��
��� �� �

��,������� �� $� �� ��	
��� 
��	�����
�� $�� -
�	
 �� .���� +� ������� �A�A� -
�� t1 = t0 + T � ��� �
��� �� ����
��� ��
�	� �� �
� ���� �������� (t0, t0 + T )� )� )$�$� -� ��
��	� $� +� DεS�
��� �� ���$� -� ��� DεS

h� /� ��� ��� ��� �� 	��
��� �,�	��� �
� ����������
�� Sh6 �� -���� 
��� ��!����� �
� ����.������ �� � ������ ��7����	� �!������
-
�	
 ������ �� �,
��	�� �������� +�	���� �� ��� ���� ���
�� ������� @�-�����
-� 	���� �
�� ��� ε ����� -��
 ���
�	� �� h� �
� ������� �� ��� 	��
�������
���� +� +��8 �
�������� �� -���� +� �� ������ �������� �� ��� ε ���� �� 06 �
�� ��
�
� ������ -
� -� ��� ��� 
������ �
� �������� 	��	��������
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��	������
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� ������� �
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�� ��	���� ��� �+������ -��
 e = 0.5
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� ������� ���� u0 = 0 ��� v0 = 0.1� /� ����� -��
 � 	��
������ �� )$�$
��� )$�$6 -� 
�������� �
� 	��
������� ��� 2JJJ 
������� � ���� ���
 h ����
�� � �-��
��. 
�������� �� h = T/2513� ��� ε = 10−8 �� )$�$8 �� 	����� T
�� �
� 
����� T = 2π/50� &� 	���������� λj,k �� �
� ������	�� �

��,�������
�� λj �+������ +� � 	��
������� �� k 
������� 4
� )$�$ .��� �
�� �������

λ1,3000 = 3.05694 and λ2,3000 = −15.06065,

��� �
� )$�$ .��� �
� �������

λ1,3000 = 3.05695 and λ2,3000 = −15.06066

4
� ������� �+������ +� ���
�	������ +� )$�$ ��� )$�$ 
��� ; 	�����
��.��5	����� ��.��� �� ������
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���� �,
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�� ��.������ ��� �
��� ��� �� ��.�����6 �
�� �� �� �.������� -��
 �
� 	
����	
	
���	��� �� �
� �����
����� ������ -� 	���������� ����
�� 	��
���������
�+��������� �� �
�� )$�$ �� ��	
 ������ �
�� )$�$�

)� -� ��� ������ �� ε -
�	
 ��� ���� ����� -��
 ���
�	� �� h �� �
� ���$
�	
���� �
� ��� �� �
� �-� (��
���� �,
������ �� 
�������8 ��� ������	�� -
��
h = T/2513 ��� ε = 10−8� -� �+������

λ1,3000 = 65.11, λ2,3000 = −5.55

4
�� ��	� ��� �� �� 	��
��� �
� (��
���� �,
������ -��
 ε ����-
��
���.�� �
�� h6 -��
 �
� 	
��	� ε = 3h� h = T/40000� �
� ���$ ���
�� .���
�������+�� �������

% ��	������	&

4
� 	��
������ �� �
� ��7����� ���
��� ���� ��� �
� 	��
������� �� �
�
(��
���� �,
������ 
�� �
�-�� � ���+�� �� ���	��
��	��� ��� ��0	������
�� ������	�� ���.��� )� 	���� +� ��.��� �
�� ���$ .���� +�� ������� +�	���� ��
�� �� ��- �����8 
�-����� )$�$ ���� ��� 
������ ��� -���� 4
��� -� �+������
�
�� ����	��� ������	�� ��� �

������� 
������� 
��������� 	�� ��������� �����
�
� ������ �� � 	��
��������

4
�������� �
� 	��	������ �� � 	�����6 ��� 	��
�������� �� � (��
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����� �
���� +� ��+ �	��� �� � ������� ���������� 
�������� +� �

����.
������� ��7����� ������	�� ���
���� ��� +� �

������. �
� �7�	� �� ��� �
�
������	�� 
���������� ��	�����. �
� ���� -
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 ���� ����	�����
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